R BT R REIFH S (FRHIH) TR HHTE 8A 268 ()
Frx

= g & B &t E i = & E fi& £ B 8

( (kg)

=LZ\CA 32.3 JtiEE - 2,376 — 10 Va9
ZLZ\CA E X - 756 — 10] a9 LL
IZALA 33.1 JtiEE 2,808 — 2,484 10 vay LL
IZALA f = 1,296 — 1,188 10 L
ZIES5 2.5 BERE 2,700 — 2592 0] A L
ZIx5 f = - 1,728 — 10
[E<E0LY 22.5 £ B 1,944 — 1,836 150 A L
HTE 1.2 2 - 2,592 — 4 A L
—EOH 6.7 ERE 2,214 2214 2,160 4 A M
FrRy 85.5 B E 1,415 1,188 972 10] vay 8
FrRY BE K 648 216 216 10 44 6
IE5SNAZES 0.7 = B - 216 — 0.15] A L
hE 5.6 JtiEE 3,726 3,564 3,078 5
_hE 1.6 2 [ 5,184 1,080 972 3l A S
125 24 = I 4590 3,510 3,240 5] vay
L) — 0.4 E % 4,860 3,942 3,564 10 A L
FRINGHR 1.3 = B 108 — 86 0.1 L
LAR 37.0 E % 3,996 3,888 3,656 10 A 16
LAX BERE 238 — 216 0.1
FoTHA 1.0 BRE 2,592 — 1,728 4f A L
=p5Y 17.9 ERE 1,296 — 1,080 5] A L
=p5Y =0 2,808 1,728 1,728 5] B M
ANESSED) 4.7 & % - 648 — 5, B
Al 6.5 BRE - 567 — 4 15
Al =I5 - 756 — 5/ D M
k2 20.6 BE K 2,592 2,268 2.160 N PEY) M
k< X & 3,240 2,592 1,728 4 A 24
=k 7.0 EES 270 248 238 02| vay M
==kThk ElE 3,024 3,024 2,808 3l A S
F—<> 6.5 X & 109 76 76 0.15 A M
F—<> BE X 2,268 1,944 1,944 45 A L
ES5HACL 2.2 JtiEE 3,802 3,564 2,700 0] A LL
T35 1.2 BRE 92 92 81 0.1 A M
[2H5Y 3.0 BRE 1,966 1,080 648 3l A M
SPVAITFA 0.1 =l 4,860 - 4320 2l A L
MrAL& 3.0 BRE 1,836 - 1,620 5/ A L
MALE BRE 1,836 1,728 1,512 5/ A M
[EhiLs 34.1 JtiEE - 202 - 0.47
IEhiLs T & - 3,888 — 0] A LL
=L 0.3 BRE 5,400 4320 1,080 5/ A
AL 10.2 "5 & 4,536 — 4,320 10 ¢ LL
f=Fh&E 55.5 JtiEE 2,592 2484 2,376 20 L
f=FhE JtiEE - 162 — 0.58 3
f=FhE = - 2,484 — 20 L
IZAIZK 0.4 ol 5,400 — 5,184 10 4L
ELLV=T 1.1 BRE - 108 — 0.1 M
HELLV=IT E 15 - 173 - 025 M M
ZDEET 45 K & 32 24 22 0.1 A
LHL 15 2 [ 97 - 65 0.2
ESES T 4295
B=

= g fm B & E i = & E fi& £ B 8

( (kg)

BMAHMAEE 3.3
INGRH DA 2.6 BRE - 1,620 — 5[ vay L
ING RHAPNA BERE 2,160 — 1,836 5] vay M
INDRFH A BRE - 1,836 — 5] vay S
INDRH A = B 1,728 — 1,512 5 L
INGRH DA i B 2,160 2,160 1,620 5 M
INGRH DA i B 2,160 1,620 1,620 5 S
LEY 1.5 F 7,020 5,400 5,400 17 165
INLULT 2.3 = I 7,020 6,804 3,888 17 88
L7y 0.4 mr2Y 4,752 — 4,320 15 45
YATE 35
2H% 35 E % - 5,724 - 10| V2 36
HA%ZLE 41.4
2K 38.5 = [ - 4,320 — 10 D L
—titge 2.8 2 [ - 4,860 — 0] ¢ L
ZTDHMEL & B - 4104 — 5[ 7hv1 12
3HET 0.6
3% 0.6 E B - 4,752 - 5| bya 18
FTHHE
ERS w3 454 — 432 05 vay
SESE 8.1
=5 3.3 Z [ 1,382 1,296 864 120 A Wyl
EA—x 0.7 =l 4,860 — 4,320 4 6
~N1)—A 0.5 & [E 1,296 1,296 1,080 1.4 A 5L
AOVEF 2.6
7—ILA 1.2 E 5 - 1,836 - g 1% 4L
FDAOY 1.4 JeiEE 6,480 3,888 3,888 gl vay
FULIVAEL 43
ERRY 2.7
CfEETLH 1.5
INFF 14.1 EYEY 5,584 3,791 3,564 15
INMFyTIL 3.5 EYEY 3,564 3,132 3,132 10 8
FoA4T)LY 1.6 — 5,076 4212 4212 5.8 30
BEHE 87.9




